Homework for Chapter 3. Acct 6160

autonumout  A cash basis corporation is in the 15% tax bracket in 2017 and will be in the 35% bracket in 2018. If certain bills are paid in 2017, a current tax deduction will be allowed for those payments. If customers are billed for November services in early December, many of those customers will make their payments before 
December 31, 2017. If billing is delayed a couple of weeks, collections will be in January, 2018. 
How should the corporation manage its 2017: 
(1) end-of-year payments of accounts payable and (2) end-of-year billing and collection of accounts receivable?

	
	(1) Accounts Payable
	(2) Accounts Receivable
	
	B

	a.
	Accelerate payment
	Accelerate Billing and Collection

	b. 
	Defer Payment
	Accelerate Billing and Collection

	c.
	Accelerate payment
	Defer Billing and Collection


autonumout  A single, wealthy investor earns net rental income of about $400,000 per year. She does not have significant itemized deductions.  She is considering giving some rental property (that generates net rental income of $20,000 per year) to her elderly mother so that her mother will have income she needs for her living expenses. 
The investor expects to save federal income taxes with this plan.  Which planning concept applies here?

	a.
	Timing of income.
	b.
	Income shifting
	B

	c.
	Changing character of income
	d.
	Step transaction doctrine


autonumout   A corporation in the 39% marginal tax bracket can pay a marketing consultant $10,000 to develop a campaign that will generate $50,000 in new revenue. Alternatively, the corporation can pay 10,000 to a tax consultant to develop a tax plan that will save $50,000 in taxes. Which project provides the highest net after-tax cash flow?
	a. 
	Marketing
	b. 
	Tax planning
	B


autonumout  Planning the timing of revenue recognition can yield benefits because of:

	a. 
	Time value of money
	b. 
	Changing marginal tax rates
	c.
	Both
	C


autonumout  Pam has $100,000 to invest for 5 years. She is considering a land investment that she expects will appreciate at the rate of 6% per year, or a savings account that will pay interest of 6% per year. Both investments involve annual compounding. After-tax earnings on the savings account would be reinvested in the savings account at 6%.  How do these investments compare in terms of (1) tax deferral and (2) income tax rates?

	
	Savings Account
	Land Investment
	b

	a.
	More tax deferral
	Lower tax rate

	b.
	Less tax deferral
	Higher tax rate


autonumout  A calendar year cash basis taxpayer, projected its taxable income to be $70,000 for 2017, and $40,000 
for 2018. After making these projections for 2017 and 2018, the company decided to have a local advertising campaign for the 2017 winter holidays costing $10,000. This cost was not included in the income projections 
above. The company has a choice of paying the advertising bill in late December or in early January. 
Ignoring time value of money, how much is the company’s net savings by paying the bill in December 2018?

	a.
	$7,500
	b.
	$1,500
	c.
	$2,500
	d.
	$1,000
	
	
	D


 autonumout  On December 31, Bill decides to sell his Dell Inc. stock, which cost $20,000 10 years ago. Assume Bill's tax rate on the $80,000 gain will be 15%. His after-tax rate of return on investments is 7%  The stock has a value on December 28 of $100,000. Bill thinks the stock market may fall and he projects the value of the stock will to be $95,000 in early 2015. He will pay the additional tax with the next federal income tax return filed on April 15, 2015 or 2016. There will be no penalty for underpayment of income tax. Should bill sell in:
	a.
	December.
	b.
	January
	A


autonumout  Mercedes has decided she needs new equipment costing $10,000 for her business. Mercedes is considering whether to make the purchase and claim $10,000 deduction at year-end or next year. With the new machinery, her business income will rise. Assume her after-tax rate of return is 8 percent. Her marginal rate will increase from 20 percent this year to 28 percent next year.  She is considering buying the machine (and paying cash) on December 20, 2017, or January 5, 2018. What is the PV of the after-tax cost of the machine if she buys the machine on January 5, 2018?

	a.
	$7,407
	b.
	$7,500   
	c.
	$8,000    
	d.
	$8,100    
	e.
	Other
	A


autonumout  Which of the following decreases the benefits of accelerating deductions? 
	a.
	Lower tax rates in the future
	b.
	Higher tax rates in the future
	B

	c.
	Larger after-tax rate of return
	d.
	larger magnitude of transactions    


autonumout  Which of the following is an example of the timing strategy? 
	a.
	A corporation paying its shareholders a $20,000 dividend
	D

	b.
	A parent employing her child in the family business

	c.
	A taxpayer gifting stock to his children

	d.
	A cash-basis business delaying billing its customers until after year end


autonumout  Rudy has a 25% tax rate and a 6% after-tax rate of return.

A $30,000 tax deduction in four years will save how much tax in today's dollars (rounded)? 
	a.
	$30,000    
	b.
	$7,500   
	c.
	$28,290    
	d.
	$5,940    
	e.
	Other
	D


autonumout  Julius has a 30% tax rate and a 10% after-tax rate of return.

A $40,000 tax deduction in two years will save how much tax in today's dollars (rounded)? 
	a.
	$40,000   
	b.
	$9,917 
	c.
	$33,040    
	d.
	$12,000
	e.
	Other
	B


autonumout  Jason's employer pays year-end bonuses each year on Dec. 31. Jason, a cash basis taxpayer, would prefer 
to not pay tax on his bonus this year.  (He would actually would prefer his daughter to pay tax on the bonus).
So, he leaves town on December 31, 2016 and has his daughter, Julie, pick up his check on January 2, 2017. 
Who reports the income and when? 
	a.
	Julie in 2016   
	b.
	Julie in 2017
	c.
	Jason in 2016  
	d.
	Jason in 2017  
	C


autonumout  A common income shifting strategy is to: 
	a.
	shift income from low tax rate taxpayers to high tax rate taxpayers
	B

	b.
	shift deductions from low tax rate taxpayers to high tax rate taxpayers

	c.
	shift deductions from high tax rate taxpayers to low tax rate taxpayers

	d.
	accelerate tax deductions


autonumout  A taxpayer paying his 10 year-old daughter $50,000 a year for consulting violates which doctrine? 
	a.
	constructive receipt doctrine     
	b.
	implicit tax doctrine
	C

	c.
	substance-over-form doctrine    
	d.
	step-transaction doctrine


autonumout  A taxpayer instructing her son to collect rent checks for the taxpayer's property 
and to report this as taxable income on the son's tax return violates which doctrine? 
	a.
	constructive receipt doctrine     
	b.
	implicit tax doctrine
	C

	c.
	assignment of income doctrine
	d.
	step-transaction doctrine


autonumout  Assume that Bill's marginal tax rate is 30%. If corporate bonds pay 8% interest, what 
interest rate would a municipal bond have to offer for Bill to be indifferent between the two bonds? 
	a.
	30%    
	b.
	10.4%    
	c.
	8%    
	d.
	5.6%
	e.
	Other
	D


autonumout  Assume that John's marginal tax rate is 40%. If a city of Austin bond pays 6% interest, what 
interest rate would a corporate bond have to offer for John to be indifferent between the two bonds? 

	a.
	30%    
	b.
	10%    
	c.
	6%    
	d.
	3.6%
	e.
	Other
	B


autonumout  Assume that Larry's marginal tax rate is 25%. If corporate bonds pay 10% interest, what interest 
rate would a municipal bond have to offer for Larry to be indifferent between the two bonds? 

	a.
	25%    
	b.
	12.5%    
	c.
	10%    
	d.
	7.5%    
	e.
	Other
	D


autonumout  Assume that Will's marginal tax rate is 32% and his tax rate on dividends is 15%. 
If a dividend-paying stock (with no growth potential) pays a dividend yield of 8%, what interest 
rate must the corporate bond offer for Will to be indifferent between the two investments? 

	a.
	12%   
	b.
	11%   
	c.
	10%    
	d.
	8%   
	e.
	Other
	C
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